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QUESTION 1

A customer is running Web messaging related applications using a Hitachi NAS Platform 3080. They are worried about
data inconsistencies and would like to know how a WFS-2 file system can benefit their current environment. Which two
functions will provide an additional layer of data protection? (Choose two.)

A. multiple Checkpoints

B. quick rollback to a previous successful snapshot

C. data recovery from the deleted file system

D. the "consistency-check" command

Correct Answer: AB

QUESTION 2

Which three statements describe the de-migration process of Data Migrator on a Hitachi NAS Platform? (Choose
three.)

A. The entire directory tree is migrated as a single instance.

B. The use of wildcard characters is permitted.

C. Reverse migration cannot be canceled once initiated.

D. An event will be raised when a file has been reverse-migrated.
E. Reverse migration is a background process.

Correct Answer: BDE

QUESTION 3

A production Hitachi NAS Platform is connected to a Hitachi VSP with a storage pool consisting of SATA drives. To
improve performance, the customer wants to migrate to SAS drives on an externalized Hitachi AMS2300 with minimal
customer involvement and minimal impact to the system and users. Which two products should be deployed? (Choose
two.)

A. Hitachi Universal Replicator

B. Hitachi Tiered Storage Manager

C. Hitachi Device Manager

D. Hitachi Tuning Manager

Correct Answer: BC
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QUESTION 4

A customer requires the most cost effective NAS solution for their NFS data. The solution must scale to four nodes and
offer both 1 GbE and 10 GbE simultaneously. Which Hitachi NAS Platform solution meets the requirements?

A. 3080 4 node cluster
B. 3090 4 node cluster
C. 3100 4 node cluster
D. 3200 4 node cluster

Correct Answer: B

QUESTION 5

A customer is running Active Directory with Windows 2003 R2 and Windows 2008 servers acting as domain controllers.
They also have a large UNIX environment. They would like to integrate a Hitachi NAS Platform using a centralized user
and group mapping for their heterogenous environment. What should be done?

A. Load the RFC 2307 Schema on the LDAP server.

B. Downgrade all Windows servers to Windows 2000.

C. Install NIS+ on all the UNIX servers.

D. Enable SMTP for time synchronization between UNIX and Windows.

Correct Answer: A
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